BID RESULTS

Project: 2022 Pavement Rehabilitation Project (#C22-43) (#C22-30)

Bid Opening: Tuesday, October 4, 2022 at 10:00 AM

Location: City Hall, 1000 San Pablo Avenue, Albany, CA 94706

Staff called for bids and the following were received:

Roadway Construction Inc.

\$2,294,944.00

Radius Earthwork Inc.

\$2,037,132.34

Ghilotti Bros., Inc.

\$2,147,856.50

Interstate Grading and Paving Inc.

\$2,138,555.55

QA Constructors Inc.

\$2,548,400.00

Maggiora & Ghilotti, Inc.

\$2,211,000.00

Teichert Construction

\$2,380,701.00

Bay Cities Paving & Grading, Inc.

\$1,998,381.00

Ghilotti Construction Company, Inc.

\$2,115,551.50

J.V. Lucas Paving, Inc.

\$2,020,957.00

Redgwick Construction Co.

\$2,175,704.95

McGuire and Hester

\$2,289,787.00

Gallagher & Burk, Inc.

\$2,131,131.00

The above results may include errors and/or omissions by the bidder. Bids are referred to staff for review.

Bid Summary

Bidder	Total
*Bay Cities Paving & Grading, Inc.	\$1,998,381.00
J.V. Lucas Paving, Inc.	\$2,020,957.00
Radius Earthwork Inc.	\$2,037,132.34
Ghilotti Construction Company, Inc.	\$2,115,551.50
Gallagher & Burk, Inc.	\$2,131,131.00
Interstate Grading & Paving Inc.	\$2,138,555.55
Ghilotti Bros., Inc.	\$2,147,856.50
Redgwick Construction Co.	\$2,175,704.95
Maggiora & Ghilotti, Inc.	\$2,211,000.00
McGuire and Hester	\$2,289,787.00
Roadway Construction Inc.	\$2,294,944.00
Teichert Construction	\$2,380,701.00
QA Constructors Inc.	\$2,548,400.00

^{*} Apparent Low Bidder

Engineer's Estimate

\$2,100,000.00

Bid Opening: 10:00 AM,
October 4, 2022
Location: City of Albany City Hall at 1000 San Pablo Avenue, Albany, CA

City of Albany 2022 Pavement Rehabilitation Project (Contract No. C22-43 C22-30)

2,850.00 49,500.00 7,973.00 7,980.00 74,610.00 69,000.00 800.00 74,410.00 | Red Lute amount | Total Amount | T Maggiora & Ghilotti, Inc. 300.00 1,500.00 2,850.00 17.00 14.00 2.00 6.00 4.00 00.000,69 2,850.00 7,980.00 43,522.50 9,000.00 11,725.00 53,150.00 115,500.00 QA Constructors Inc. 300.00 2,850.00 3,500.00 25.00 10.00 2.00 3.50 45.00 8,379.00 73,366.50 151,548.00 170,820.00 508,592.00 118,180.00 25,194.00 11,700.00 42,900.00 4,500.00 55,200.00 3,048.50 50,492.50 9,600.00 Interstate Grading & Paving Inc. Bid Unit amount Total Amount 146.00 146.00 152.00 190.00 17.00 1,300.00 240.00 6.50 9.50 2.10 1,300.00 5.90 48.00 4,500.00 2,814.00 43,522.50 3,000.00 2,850.00 47,835.00 19,950.00 46,000.00 39,600.00 Ghilotti Bros., Inc. 200.00 155.00 155.00 165.00 225.00 15.00 1,200.00 2,850.00 6.00 9.00 5.00 3.50 15.00 1,200.00 9,853.69 54,425.60 16,957.50 44,517.30 15,410.00 3,135.00 43,560.00 15,000.00 Radius Earthwork Inc. 4.25 21.01 154.34 149.32 142.90 209.62 9.75 1,320.00 3,135.00 10.24 3.58 67.00 75.00 1,320.00 20,000,00 110,000,00 5,000,00 4,000,00 14,000,00 11,000, 23,000.00 7,035.00 7,980.00 62,175.00 10,000.00 39,600.00 3,000.00 106,300.00 | Bid Unit amount | Total Amount | | Roadway Construction Inc. 170.00 170.00 170.00 20.00 1,200.00 15.00 20.00 100.00 1,200.00 3,000.00 2.00 5.00 50.00 2,814.00 7,980.00 74,610.00 33,000.00 5,000.00 42,520.00 10,000.00 Engineer's Estimate 1,000.00 5,000.00 6.00 8.00 2.00 6.00 50.00 Unit LS LS LS LS LS EA EA EA EA S R SF SF SF ₽ ₽ EA Est. Qty. 1 4,838 18 599 318 2,031 90 12,435 1,038 1,170 3,346 622 1,482 9 3,990 3,960 457 1,426 1,353 5,315 230 469 200 33 1 Markings Roadway Grinding (Varies Depth up to 12 inches) Roadway Grinding (Varies Depth up to 3 inches) pin solution with a constraint of the constraint Adjust Sanitary Sewer Manhole Cover to Grade Adjust Electrical Manhole Cover to Grade Adjust Water Valve Box to Grade Adjust Gas Valve Box to Grade Replace Asphalt Concrete 6-inch HMA (Digout) Replace Asphalt Concrete 4-inch HMA (Digout) 2 Tridiffic Control
3 Water Pollution Control
4 Water Pollution Control
5 Tree Pollution Control
5 Tree Pollution Control
6 Adjust Survey Monument Box to Grade
8 Concrete Demollion
9 ECC.curb Ramp
10 ECC.curb Ramp
10 ECC.curb Ramp
11 ECC Retaining Curb
12 ECC Sidewalk Ramp
13 ECC Diveway Approach
13 ECC Diveway Approach
14 Remove Storm Dami Structures and Pipes
14 Remove Storm Dami Structures and Pipes
15 Trope A Drain Inlet 21 22 23 19 25 27 28 29 30 31 32 33 33 38 39 40 41 44 44 45 46 24

* APPARENT LOW BIDDER (based on lowest total of base bid)

LF = Linear Foot LS = Lump Sum SF = Square Feet TON = Ton (2000 lbs)

City of Albany 2022 Pavement Rehabilitation Project (Contract No. C22 43 C22-30)

Bid Opening: 10:00 AM, October 4, 2022 <u>Location</u>: City of Albany City Hall at 1000 San Pablo Avenue, Albany, CA

			Engineer's Estimate	imate	Teichert Construction	nstruction	Bay Cities Paving & Grading, Inc.	Grading, Inc.	Ghilotti Construction Company, Inc.	on Company, Inc.	J.V. Lucas Paving, Inc.	aving, Inc.	Redgwick Construction Co.	ruction Co.	McGuire and Hester	Hester	Gallagher & Burk, Inc.	Burk, Inc.
No. Description	Est. Qty.	Unit	Bid Unit amount Tota		Bid Unit amount Total Amount		Unit amount	-		_		$\overline{}$			Bid Unit amount Tota		Bid Unit amount To	Total Amount
1 Mobilization		S	\$ 00.000,00	\$ 00.000,00	220,544.00	\$ 220,544.00	\$ 199,774.00 \$	199,774.00	\$ 130,000.00	130,000.00	\$ 103,000.00	\$ 103,000.00	\$ 99,750.00 \$	99,750.00	\$ 37,000.00 \$	37,000.00	210,000.00	210,000.00
3 Water Pollution Control	-	5 5	-	20,000.00	15,000,00	15.000.00	\$ 11,200.00 \$	11,200.00	\$ 10.780.00	10.780.00	3 1,500.00	3 1.500.00	\$ 6.800.00	6.800.00	4.700.00 \$	4.700.00	1.000.00	1.000.00
4 Construction Surveys	1	\$ SI		20,000.00	3,000.00 \$	\$ 23,000.00	\$ 12,800.00 \$	12,800.00	\$ 12,000.00	\$ 12,000.00	\$ 9,732.00	\$ 9,732.00	\$ 14,500.00 \$	14,500.00	\$ 8,500.00 \$	8,500.00	8,000.00	8,000.00
5 Tree Protection	1	\$ SI	\$ 00.000,01	10,000.00	\$ 22,000.00 \$	\$ 22,000.00	\$ 2,000.00 \$	2,000.00	\$ 10,500.00	\$ 10,500.00	\$ 5,000.00	\$ 5,000.00	\$ 00:005'6 \$	9,500.00	\$ 21,400.00 \$	21,400.00	\$ 00:000'8	8,000.00
6 Monument Preservation		EA	-	1,500.00	2,300.00 \$	\$ 2,300.00	\$ 2,300.00 \$	2,300.00	\$ 2,200.00	\$ 2,200.00	\$ 3,636.00	\$ 3,636.00	\$ 8,500.00 \$	8,500.00	\$ 1,300.00 \$	1,300.00	2,500.00 \$	2,500.00
Adjust Survey Monthlett Box to Grade Concrete Demolition	4.838	5 55	6.00	29.028.00	14.00	5 67.732.00	\$ 10.00	48.380.00	\$ 11.00	53.218.00	300.00	\$ 48.380.00	11.00 \$	53.218.00	\$ 8.00 \$	38.704.00	13.00 \$	1,000.00
9 PCC Curb Ramp	18	EA	5,000.00 \$	\$ 00.000,06	4,500.00	\$ 81,000.00	\$ 4,250.00 \$	76,500.00	\$ 5,500.00	00:000:66	\$ 4,250.00	\$ 76,500.00	\$ 4,700.00 \$	84,600.00	\$ 7,000.00 \$	126,000.00	4,250.00 \$	76,500.00
10 PCC Curb and Gutter	299	LF \$	\$ 00.06	53,910.00 \$	-	-	\$ 40.00 \$	23,960.00	\$ 90.00	\$ 53,910.00	\$ 40.00	\$ 23,960.00	\$ 44.00 \$	26,356.00	\$ 130.00 \$	77,870.00	40.00	23,960.00
11 PCC Retaining Curb	318	LF \$	\$ 00:09	19,080.00	\$ 42.00 \$	\$ 13,356.00	\$ 35.00 \$	11,130.00	\$ 32.00	\$ 11,130.00	\$ 35.00	\$ 11,130.00	\$ 38.00 \$	12,084.00	\$ 23.00 \$	16,854.00	35.00 \$	11,130.00
12 PCC Sidewalk	2,031	SF \$	\$ 22.00 \$	44,682.00	34.00	\$ 48,744.00	\$ 12.00 \$	24,372.00	\$ 20.00	\$ 40,620.00	\$ 12.00	\$ 24,372.00	\$ 13.00 \$	26,403.00	\$ 34.00 \$	69,054.00	12.00	24,372.00
	90	SF \$	30.00 \$	2,700.00 \$	\$ 42.00 \$	\$ 3,780.00	\$ 18.00 \$	1,620.00	\$ 22.00	\$ 4,950.00	\$ 18.00	\$ 1,620.00	\$ 20.00 \$	1,800.00	\$ 116.00 \$	10,440.00	18.00 \$	1,620.00
	1	S S	\$,000.00 \$	5,000.00	13,000.00	\$ 13,000.00	\$ 7,000.00 \$	2,000.00	\$ 2,750.00	\$ 2,750.00	\$ 5,000.00	\$ 5,000.00	\$ 2,100.00 \$	2,100.00	\$ 23,300.00 \$	23,300.00	13,000.00	13,000.00
	2	Y C	-	14,000.00	2,000.00 \$	\$ 14,000.00	\$ 5,800.00 \$	11,600.00	\$ 4,400.00	\$ 8,800.00	\$ 3,808.00	\$ 7,616.00	\$ 6,500.00 \$	13,000.00	\$ 9,300.00 \$	18,600.00	8,000.00	16,000.00
16 Type I SUMH	- 1	EA :	9,000.00 \$	9,000.00	14,500.00	5 14,500.00	\$ 6,528.10 \$	6,528.10	5 5,500.00	5,500.00	5 6,000.00	5 6,000.00	\$ 00.000,8	8,900.00	\$ 8,800.00 \$	8,800.00	8,000.00	8,000.00
17 12-men PVC Pipe 18 Sidewalk Under Drain	12	7 7	50.00	4,200.00	140.00	5 1.680.00	40.00 \$	480.00	\$ 175.00	25,200.00	50.00	2 12,600.00	\$ 2/8:00 \$	2.160.00	\$ 200.00 \$	2,400.00	100.00	1,200.00
	469	- St		-		+	\$ 00.6	4,221.00	\$ 10.00	\$ 4,690.00	\$ 7.00	\$ 3,283.00	\$ 10.80 \$	5,065.20	\$ 19.00 \$	8,911.00	6.00 \$	2,814.00
	216	- 5	00 0	00 003 07	8 1	00 300 10	0000	02.00	90 00	00 031 63	09 9	00 000 30	00.11	03 030 03	8	00 300 60	000	00 100
	cre'c	T	9.00	_	7.00	37,205.00	¢ nc:nt ¢	06./08,66	OO:OT	00.0ct,cc ¢	09:00	00.870,66	¢ 05.11	06.860,00	_	4/,833.00	e 00.6	47,635.00
	9,228	SY \$	\$ 00.9	55,368.00 \$	\$ 5.00 \$	\$ 46,140.00	\$ 5.20 \$	47,985.60	\$ 6.00	\$ 55,368.00	\$ 4.50	\$ 41,526.00	\$ 7.00 \$	64,596.00	\$ 4.00 \$	36,912.00	6.00	55,368.00
22 3-inch Cold Planing	6,935	T	9.00	62,415.00 \$	6.00	\$ 41,610.00	\$ 6.20 \$	42,997.00	\$ 7.00	\$ 48,545.00	\$ 5.00	\$ 34,675.00	\$ 7.25 \$	50,278.75	\$ 4.00 \$	27,740.00 \$	7.00 \$	48,545.00
23 4-inch Cold Planing	14,870	SV	12.00 \$	178,440.00 \$	8.00 \$	\$ 118,960.00	\$ 00.6 \$	133,830.00	\$ 8.00	\$ 118,960.00	\$ 6.00	\$ 89,220.00	\$ 00.0	133,830.00	\$ 5.20 \$	77,324.00 \$	10.00	148,700.00
24 Roadway Grinding (Varies Depth up to 3 inches)	3,990	SF \$	2.00 \$	2,980.00	\$ 1.00	\$ 3,990.00	\$ 4.00 \$	15,960.00	\$ 2.00	\$ 7,980.00	\$ 1.25	\$ 4,987.50	\$ 2.00 \$	7,980.00	\$ 3.00 \$	11,970.00	2.00 \$	7,980.00
25 Roadway Grinding (Varies Depth up to 12 inches)	12,435	-S	6.00 \$	74,610.00 \$	\$ 3.00 \$	\$ 37,305.00	\$ 3.00 \$	37,305.00	\$ 4.00	\$ 49,740.00	\$ 4.00	\$ 49,740.00	\$ 4.20 \$	52,227.00	\$ 4.60 \$	57,201.00 \$	4.00 \$	49,740.00
26 Soil Stabilization with 6" Class 2 AB (Revocable)	230	ς ζ	2.00 \$	460.00 \$	175.00	\$ 40,250.00	\$ 150.31 \$	34,571.30	\$ 200.00	\$ 46,000.00	\$ 67.00	\$ 15,410.00	\$ 100.00 \$	23,000.00	\$ 32.00 \$	7,360.00 \$	220.00 \$	50,600.00
27 Disposal of Asphalt Concrete with Fabric (Revocable)	200	۲۵ ک	50.00 \$	10,000.00 \$	\$ 15.00 \$	\$ 3,000.00	\$ 50.61 \$	10,122.00	\$ 18.00	\$ 3,600.00	\$ 14.00	\$ 2,800.00	\$ 25.00 \$	5,000.00	\$ 76.00 \$	15,200.00	5.00 \$	1,000.00
28 2-inch HMA	1,038	NT	125.00 \$	ΙI	3 137.00 \$	\$ 142,206.00	\$ 117.00 \$	121,446.00	\$ 140.00	\$ 145,320.00	\$ 165.00	\$ 171,270.00	\$ 150.00 \$	155,700.00	\$ 167.00 \$	173,346.00	132.00 \$	137,016.00
29 3-inch HMA	1,170		125.00				\$ 119.00 \$	139,230.00	\$ 140.00 \$	\$ 163,800.00	\$ 165.00	\$ 193,050.00	\$ 150.00 \$	175,500.00	\$ 145.00 \$	169,650.00	132.00 \$	154,440.00
30 4-inch HMA	3,346	N V	125.00 \$	418,250.00 \$	132.00 \$	\$ 441,672.00	119.50 \$	399,847.00	\$ 140.00	468,440.00	\$ 165.00	\$ 552,090.00	150.00 \$	501,900.00	3 149.00 \$	498,554.00	132.00 \$	441,672.00
	1 402	A 4	10000 \$	14 920 00 \$	1100 6	5 99,520.00	15.00 \$	72 220 00	00.001	200,000,000	5 Tes.00	5 102,630.00	12.00 \$	93,300.00	22.00.00	24 006 00 6	\$ 00.00	11 956 00
33 Adjust Storm Drain Manhole Cover to Grade	1,402	EA 4	1,1	9,000.00	_	$\overline{}$	\$ 1,200.00 \$	10,800.00	\$ 1,400.00	\$ 12,600.00	\$ 1,200.00	\$ 10,800.00	\$ 1,300.00 \$	11,700.00	\$ 1,200.00 \$	10,800.00	1,200.00	10,800.00
34 Adires Course Source Manufacture Course	33	EA	1,000.00 \$	33,000.00	1,250.00	\$ 41,250.00	\$ 1,200.00 \$	39,600.00	\$ 1,400.00	\$ 46,200.00	\$ 1,200.00	\$ 39,600.00	\$ 1,300.00 \$	42,900.00	\$ 1,200.00 \$	39,600.00	1,200.00 \$	39,600.00
35 Adjust Electrical Manhole Cover to Grade	1	EA \$	1,000.00 \$	1,000.00	$\overline{}$	\$ 1,250.00	\$ 1,200.00 \$	1,200.00	\$ 1,800.00	3 1,800.00	\$ 1,200.00	\$ 1,200.00	\$ 1,300.00 \$	1,300.00	\$ 1,200.00 \$	1,200.00	1,200.00 \$	1,200.00
\neg	52	EA	\$00.00	41,600.00	\$ 950.00	\$ 49,400.00	\$ 900.00 \$	46,800.00	1,000.00	\$ 52,000.00	\$ 900.00	\$ 46,800.00	\$ 1,000.00 \$	52,000.00	\$ 900.000 \$	46,800.00	\$ 00.006	46,800.00
37 Adjust Gas Valve Box to Grade	7	Ť	800.00		950.00	7,850.00		2,700.00	T,000.00	3,000.00	00:006	2,700.00	t,000.00	3,000.00		2,700.00	\$ 00.006	2,700.00
	1	r S	5,00	5,000.00	6,500.00	=	\$ 2,850.00 \$	2,850.00	\$ 2,850.00 \$	\$ 2,850.00	\$ 2,850.00	\$ 2,850.00	\$ 5,500.00 \$	5,500.00	\$ 6,800.00 \$	6,800.00	6,500.00	6,500.00
	3,960	S.	8.00 \$	31,680.00	12.00 \$	\$ 47,520.00	\$ 7.00 \$	27,720.00	\$ 7.00	\$ 27,720.00	\$ 7.00	\$ 27,720.00	\$ 7.00 \$	27,720.00	\$ 12.00 \$	47,520.00 \$	12.00 \$	47,520.00
40 Inermobiastic Green Bike Marking	1,457	<u>ه</u> د	12.00 \$	3,484.00	18.00	8,226.00	2000 5	9,140.00	2000	9,140.00	20.00	9,140.00	2000	9,140.00	\$ T8.00 \$	8,226.00	18.00	8,226.00
	1,420	5 5	1.00 \$	1,353.00	3.00	\$ 4,059.00	3.50 \$	4,735.50	3.50	\$ 4,735.50	3.50	\$ 4,735.50	3.50 \$	4,735.50	3.00 \$	4,059.00	3.00	4,059.00
	13	EA \$	30.00 \$	390.00	15.00 \$	\$ 195.00	\$ 12.00 \$	156.00	\$ 12.00	\$ 156.00	\$ 12.00	\$ 156.00	\$ 12.00 \$	156.00	\$ 15.00 \$	195.00	15.00 \$	195.00
	2	EA \$	\$ 00.00	100.00	\$ 200.000 \$	\$ 400.00	\$ 350.00 \$	200.00	\$ 350.00	\$ 700.00	\$ 350.00	\$ 700.00	\$ 350.00 \$	700.00	\$ 200.00 \$	400.00	200.00	400.00
	16	EA S	200.00	3,200.00	350.00 \$	\$ 5,600.00	\$ 325.00 \$	5,200.00	\$ 325.00	\$ 5,200.00	\$ 325.00	\$ 5,200.00	\$ 325.00 \$	5,200.00	\$ 350.00 \$	5,600.00	350.00 \$	5,600.00
46 Sign Post	13	EA C	350.00 \$	2 150.00	300.00	3,900.00	325.00 \$	4,225.00	325.00	4,225.00	\$ 325.00	\$ 4,225.00 \$	325.00 \$	4,225.00	300.00 \$	3,900.00	300.00	3,900.00
	809	S. S.	10.00	6,080.00	2.50 \$	\$ 1.520.00	4.00 \$	2.432.00	00.00.5	5.472.00	2.00	\$ 1,216.00	2.00 \$	1.216.00	\$ 15.00 \$	9.120.00	8.00	4.864.00
	1	SI	• ••	,		\$ 108,000.00	\$ 00.000,00 \$	00.000,06	\$ 74,000.00	\$ 74,000.00	\$ 107,196.00	\$ 107,196.00	\$ 34,950.00 \$	34,950.00	\$ 85,350.00 \$	85,350.00	45,000.00	45,000.00
50 Supplemental Work	1	AL \$	\$ 00.000,08	30,000.00	\$ 30,000.00	\$ 30,000.00	\$ 30,000.00 \$	30,000.00	\$ 30,000.00	\$ 30,000.00	\$ 30,000.00	\$ 30,000.00	\$ 30,000.00 \$	30,000.00	\$ 30,000.00 \$	30,000.00	30,000.00	30,000.00
TOTAL items 1-50	20	-	S	\$ 1,908,192.00		\$ 2,380,701.00	<u>~</u>	1,998,381.00		\$ 2,115,551.50		\$ 2,020,957.00	<u>~</u>	2,175,704.95		2,289,787.00	Ĵ	2,131,131.00
			Engineer's Estimate	imate	Teichert Construction	nstruction	Bay Cities Paving & Grading, Inc.	Grading, Inc.	Ghilotti Construction Company, Inc.	on Company, Inc.	J.V. Lucas Paving, Inc.	aving, Inc.	Redgwick Construction Co.	ruction Co.	McGuire and Hester	Hester	Gallagher & Burk, Inc.	Burk, Inc.

* APPARENT LOW BIDDER (based on lowest total of base bid)

Intilicized highlighted numbers denote corrected dollar emount based on bid unit amount and extinated quantity.

Abbreviations:

CF = Cubic Feet
CF = Cubic Fe

LF = Linear Foot LS = Lump Sum SF = Square Feet TON = Ton (2000 lbs)